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Note : This paper is of Eighty (80) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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SECTION–A/���	����

(Long Answer Type Questions)/������� � ���!�� 
�"!� ��#$�

Note : Section 'A' contains Five (05) long answer type
questions of Twenty (20) marks each. Learners are
required to answer any Two (02) questions only.

(2×20=40)
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1. Find the first order derivative of the following functions.

(a) x–7/2.

(b) 2 2
4x

x
� .

(c) (x2 + 1) (x + 3x2).

(d) 5/2

1

x�
.

(e) 3/21
(2 5)x

x
� .

����� �����	
� �	� ��
��� ��	��� �	� ������ ���� ������

��� x–7/2.

���� 2 2
4x

x
� .

��� (x2 + 1) (x + 3x2).
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1

x�
.

��� 3/21
(2 5)x

x
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2. Calculate standard deviation and coefficient of variance from
the following data.

Labour 1 2 3 4 5 6 7 8 9 10

Wages 80 85 95 90 100 75 65 105 70 85
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& � � � 1 2 3 4 5 6 7 8 9 10

� � ' ( # � 80 85 95 90 100 75 65 105 70 85

3. Explain the difference between primary data and secondary
data and state their main sources of collection.
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4. What is Skewness? Explain how Skewness differs from
Kurtosis.

��.����� 0+�� 1)2� !�3�4�� ��� ��.����� �5
�%6��.�78�� !	� ��!� ����#
�9�:�� 1)2



C888 / BAEC-301 [ 4 ]

5. What is index? Explain in detail its importance in economic
and business studies.
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SECTION–B/���	�����

(Short Answer Type Questions)/�"��%� � ���!�� 
�"!� ��#$�

Note : Section 'B' contains Eight (08) short answer type
questions of Ten (10) marks each. Learners are required
to answer any Four (04) questions only. (4×10=40)
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1. Explain in detail what do you understand by the analysis of
time series.
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2. Calculate Arithmetic mean for the following continuous data
serives.

Items (C-I) 0-10 10-20 20-30 30-40

Frequency 2 5 1 3
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3. Explain the meaning of dispersion and methods of its
measurement.
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4. Define correlation with example.
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5. Explain the usefulness of presentation by digram?
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6. What is the difference between interpolation and
extrapolation?
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7. Solve the following 3 × 3 determinant :

9 1 6
4 8 5
6 0 2
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9 1 6
4 8 5
6 0 2
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8. A Monopolist has the cost function TC(x) = 20x + 15x2 and
faces the demand function given by p = 1200 – 10x. What
will be the profit maximizing output?

����?��#�� ��� ����� ����� TC(x) = 20x + 15x2� 1)� ��)#� �1
p = 1200 – 10x�*�#�� �'�� ��� ��
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